WSC Group 4 Level 1

Q 1) Find the answer of the expression 25 * 1.5 + 2.5/ 18 upto 4 places of decimal. /
25% 1.5+2.5/ 18 SFYUTA & IR P GHAI b 4 VM dP g

1) 45.4253
2) 37.6388
3) 52.1245
4)75.2563

Q 2) What will be the degree of freedom in the link mechanism shown in the given
figure? / &S 718 3MTpia H fefds dF (Ad o) T Tad=dT (hred) &1 f&it &

r)

...........

1
2)2
3)3
4)4

Q 3) Find the original price of the goods, if the craftman sells goods for Rs 450 after
giving 25% discount?

1) 600
2) 650
3) 550
4 500

Q 4) In the figure, which measuring quantity is used to measure the cable? / &ﬂﬁ ﬁ,

P Bl AU & fore fog Arg= uReToT o1 IuanT foham Sirdn 82

1) length/ WSS

2) mass/ SIHIT

3) time/ 37

4) electric current/ sﬁm HC

Q 5) Find the mass of an object, if the net force acting on object is 450N which



accelerates at 50 m/s2? / TiG ad IR B IR dlefl Y& el 450N 8 Ol 50 m/s2 TR
T gfe (QaRieRe) HA1 ], O I I BT THM ga?

1) 6 kg
2)9kg
3)4 kg
4) 7 kg

Q 6) In the free body diagram, two forces are shown. What will be the acceleration of

the ball, if the weight of the ball is 4kg? / Jad YRR MHIA (P! el S H, &l
It I fema a1 g 1 Ife e &1 9w 4kg ©, A 7S BT @R0T T g2

oN

-

3N

1) 1.5 m/s2
2) 1.0 m/s2
3) 0.5 m/s2
4) 2.0 m/s2

Q 7) Find the gravitational force between the two objects m1 and m2 separated by
distance 30m having their masses 20kg and 30 kg respectively? Take G as G = 6.6726

x 10-11N-m2/kg2. / & TJE m1 3R m2 & & BT TSATHYY §d g g 30 m
RY H

1) 4.4484 x 10-11N
2) 8.2453 x 10-10N
3) 3.5247 x 10-9N

4) 4.4542 x 10-13N

Q 8) In an inclined plane as shown, potential energy at top of building is 70 J. What
will be the potential energy at point A and B? / o1 fop feamar %, SARA & SHWR
fRufst Soit 70 781 g A 3R B R Rufaw St an gife

PE = 70]

1)35]
2) 707
3) 0J
4) 100J

Q 9) In proportionally curve, which alphabet describes yield point? / e«n‘g’m% ddb ﬁ,
DI T 3eR IS fog PT I BT 82



A
2)B
3)C

4) None of these/ g:lff q ﬁé 1t :|—E>p[

Q 10) What will be the velocity ratio of wheel and axle having wheel diameter as 500
mm and axle diameter as 250mm. / 500mm tI'%'{IT oA G‘ﬁT 250 mm ?;Rof Y aTe

afgar 3R ¢ &1 AT SFUTd R I

1)4
2)2
3)1
4)5

Q 11) In the free body diagram, the direction of net force is: / Had TRR 3‘[@% (550[
IS S H, g 9 @ A= |:

E.:: =600 N

1) 600N Left/ardil
2) 1200N Right/Gr
3) 600N Up /SR
4) 600N Down/ -1

Q 12%) What is the percentage of the fraction 85/25? / 85/25 3{RT ( m ARG
R 5?2

1)4.5
2)2.55
3)3.4
4)1.85



Q 13) Find the median of 3,4,7,9,10,2,38,23,38,23 / 3,4,7,9,10,2,38,23,38,23 [ H¥

(e ge |

1)9
2)9.5
3)8
4)8.5

Q 14) Find the matrix addition of 2x2 matrix where / 2x2 AfCHT & AR ToH BI
ga et

1)

2)

3)

4) None of these/ $7I'E[ ﬁ Tﬁ_ﬁp 1t :@T

Q 15) What will be the power delivered to the circuit, if current across 40 ohm resistor

is 2.5A7 / TfS 40 ohm TfeRIY® H 2.5 fagyd ydTe 8, A I fhe P! fear o=
gTaT 9 (91a) T g

1) 230W

2) 180W

3) 120W
4) 250W

Q 16) Choose correct statement. / ﬂ_ﬁ DY hl J-Id BN |

1) (a) 1 micron = 0.01 mm (B) SI unit of temperature is Kelvin/ (a) 1 W:f =0.01

THTH (B) AITHT &1 T3S SHTE died &

2) (a) 1 micron = 0.001 mm (B) SI unit of temperature Celsius/ (a) 1 W =0.001
THTH (B) ATTHH &1 TSI SHTE AR

3) (a) 1 micron = 0.001 mm (B) SI unit of temperature is Kelvin/ (a) 1 W:[ =0.001
THTH (B) AITHH &1 T3S SHTE died &

4) (a) 1 micron =0.0001 mm (B) SI unit of temperature is Kelvin/ (a) 1 W:f =
0.0001 THTH (B) dTTHT 1 T3S ShTs bied §

Q 17) The ratio of the speed of a body to the speed of sound in the surrounding

medium is called / HTIUTH & TTATERT H & D1 7T 1 9% B1 TTid F ST
EIGIE

1) Reynold Number / HTeE e
2) Mach Number / {TG AT

3) Supersonic Number / WW T
4) Hypersonic Number / SIQURH[I- D L]

Q 18) Error in measurement is defined as (Instrument reading - true reading). Parallax
error in reading on an analog scale comes under classification of / HIU | ’fﬂ% Eal

ORI foraT 71T B (USRI UeH - el UgH) | TGN UHH | Ug- H dad Ffe

1) Gross error/ﬁi%
2) Systematic error / Tafyd Z%

3) Random error / ATEfwh ﬁ%
4) None of these / STH AT P T8l



Q 19) Anything that moves in a circular path must be acted on by a centripetal force

that 1S .....cceevveneen. the object s path. / fordtt oY MeTpR gy & T arelt fopant i it
DI TP oI 9 GRI B (BT ST A1MEY S T Fl ...

1) In the same direction as / HI IR ST

2) In the opposite direction of / &t fomdid fe=m &
3) Parallel to / & JHHAR

4) Perpendicular to / & T

Q 20) The .......cceueee.. is the point defining the geometric centre of an object. /

fareg; fepedY g bt wanfrcita g & & & uRkii o ST 8
1) Centre of gravity / WW

2) Centre of mass | HR BT 5%
3) Centroid /

4) None of these / STHA Y PIS T8l

Q 21) If a force of 35 N is required to move a mass of 45 kg on a flat surface at
constant velocity, calculate the coefficient of friction. / afe Udh Jdd IR AT
A8 W 45 [Hal & TH YR I 9AM & [TU 35 T & 9 BI S1a=IHdl il 6,
ENCAS MY EIWIEZEIR

1)0.77
2)0.08
3) 0.39
4)0.04

Q 22) Which list shows the substances in order of increasing density? / a‘c.r?r g9 &

T T X ! DI 4l gl G § 2

1) Water, oxygen, kerosene, lead / tﬂ:ﬁ, &m:f, ﬁﬁﬂ, ]
2) kerosene, water,Oxygen, lead / ﬁﬁﬂ, tﬂ:ﬂ, \’rm, das

3) Lead, water, kerosene, oxygen / étc;, tI'IT'ﬁ, ﬁﬁﬂ, N IEREE]
4) Oxygen, water, kerosene, lead / GI'T'@:IG:L tﬂ:ﬁ, ﬁﬁﬂ, ]

Q 23) In figure given below, coefficient of thermal expansion of material A is ............ /

i a8 77e fo 1, 9l U o ardiy favdR &1 o

: = %

(a) A bimetallic strip

(b) Chilling the strip (c) Heating the strip




1) Smaller than that of material B / I & ¥ oA
2) Larger than that of material B / BIEPICIREIRED
3) Same as that of material B / T &t o THH

4) None of these / STH AT DI T8l

Q 24) Rotary compressors are used where ............. quantities of gas are needed at
........... pressure. / e} HUTR DT YN T&T [T STl § STg T R I
A T B} SMaRaehar Sl ¥

1) Large; High / dST; 3=
2) Large; Low / dSI; @ H

3) Small; High / ®IcT; 3
4) Small; Low / @a; oy

Q 25) The flow is turbulent flow, if Reynold Number is more than ................ /afe
ST W 3 B, I YT ST YT B 3

1) 1000
2) 2000
3) 3000
4) 4000

Q 26) The viscosity of a fluid in motion is 1.0 Poise. Its viscosity will be / g8d gd Uh
%d 31 faufeUIgs 1.0 U1SH ¢ 1S9 Rt BT

1) 0.0 Poise when fluid is at rest/ SId d b Epf dd 0.0 thsﬂsr
2) 0.5 Poise when fluid is at rest / SId ¢d > ] 819 0.5 UIgy
3) 1.0 Poise when fluid is at rest / SId gd >db] Epf dd 1.0 tngg
4) 2.0 Poise when fluid is at rest / SId d >h] E-T dd 2.0 ‘Zh's'ﬂ

Q 27) Using Kirchoff s Rule in figure given below, what is the amount of current in

117/ fed U fo &, foaes o 19 &1 Ui aRd §U, 11 & Fhic &l AT T 8
?

1) 10 Ampere / 10 SRR

2) 45 Ampere / 45
3) 50 Ampere / 50 UERR



4) 60 Ampere / 60 SRR

Q 28) What is the distance of point of intersection of straight lines 2x + 3y =6 and y =

x + 7 from the origin?/m@@%ﬂm\’tﬁ2x+3y:63?Ry=x+7$ma3
gatgdane

1)7

2)5

3)4
4)3

Q 29) A cannon ball is dropped from a tower. As it falls .......... / Tch CIaR J dqa &I
T R SiTern 31 579 9 e g

1) Kinetic energy increases; Potential energy decreases / Tfers eraé?ﬂ, fufast
Sl get

2) Kinetic energy decreases; Potential energy increases / Tfars Wfﬂ%‘ﬂ, fufas
ol gt

;)%(-ﬁnetic energy increase; Potential energy increases / Tfast Sol a%"ﬁ; ffaw Foif

4) Kinetic energy decreases; Potential energy decreases / TTforst Folf T i|, fRufast

Q 30) By stretching arrow (figure below), you are storing ............. /TR B Glad gqd

@RfE), M HTUSRUBRII T

1) Kinetic energy / Tfast Soll

2) Potential energy / fRyfasT Solf

3) Kinetic energy and potential energy both / Tfast Soll aur fufas Soif gl
4) Neither kinetic energy nor potential energy / - i St A Rufast Solf

Q 31) With the help of a pulley, a person is able to raise a load of 500 N through 8 m.
He applies a force of 95 N on the rope and pulls it through 64 m. Here efficiency = .... /

U TR D HGe U, TP aAiad 8 Hiex & HTHH T 500 T BT HR IoM H e[

1) 0.586
2)0.568
3) 0.658
4) 0.865

Q 32) The capacitance of a capacitor (symbol shown below) depends on ............... / G
TYTRA BT YR (Uchep 1 fear T @) RARFHarg



1) Area of the plates / INGIETEE]

2) Spacing between plates / @iel & A9 ®H

3) Type od dielectric used / S PR Bl Sl‘i:—QQ}IIrOTQGb g dd
4) All of these / T T

Q 33) What happens to the strength of an electromagnet as you add more coils around
it?/ U faggadad &! Wfad &I 3T BIdT § ofF 310 39 WR 3R 31fd Hizd dued

g7

1) It increase / Ug dedl g

2) It decreases / g dcdl %

3) It remains the same / g JHIH g dl %

4) It stops completely / 116'1133[ dave T TP STl %

Q 34) German silver contains .................. ) ST ReaR | Eﬁ?ﬂ %

1) Nickel, Chromium and Zinc / ﬁl?l—cr, HITHTH U1 e

2) Chromium, Vanadium and Copper / m, JAfSTH quT afe
3) Nickel, chromium and vanadium / ﬁ?l_c’, HIfH quT adfeas
4) Nickel, Zinc and Copper / fiete, fSie dur dier

Q 35) Which of these stress can also be known as hoop stress? / 5'1J?I' QB T 19
g dHd & U H W ST ST g 2

1) Axial stress / ST g

2) Longitudinal stress / Hﬂ%ﬁ?ﬂﬁ
3) Fluid stress / dX¢f d-Td

4) Circumferential stress / uRketg a1

Q 36) What is most likely to happen when the switch (figure given below) is closed?/

o g &g g1 (A foar mar fom) & 1 9 &) FuTeaT 9aifie § 2



Iron naael

Coil of insulated wire

-——O/ B

Battery

Swilich

1) A magnetic field should be produced / Y W 333[ éw foar ST ZIT%Q
2) The nail will rust / Td H ST & SITQ

3) The battery will explode / 9 A fowpre _EﬁTIT
4) The wire will catch fire / dIR T ST A STt

Level 1 Answer key

Question No. | Option Question No. | Option
1 2 31 3
2 1 32 4
3 1 33 1
4 1 34 4
5 2 35 4
6 3 36 1
7 1

8 3

9 3

10 2

11 4

12 3




13 2
14 1
15 4
16 3
17 2
18 1
19 4
20 3
21 2
22 2
23 1
24 2
25 4
26 3
27 3
28 2
29 1
30 1

WSC Group 4 Level 2

Q 1) From your school to your home, the distance is around 10.0 km. It requires 20.0
min for you to reach your school by cycle. Find the average speed in kilometers/hour? /

39S faenerd & offuds o= 31 g3 1M 10.0 km B | TTSfha ¥ S faemera o
UgeH &

1) 20 knv/hr

2) 45 km/hr

3) 30 km/hr
4) 35 km/hr

Q 2) What will be the magnitude of resultant vector A, if vectors P and Q having
magnitudes 10N and 15N respectively with angle between them as 45°? / afq

3R Q ST o (ARIES) 10N 3R 15N B 3R 3% dIa BT HI0M45 ° 7, a‘raﬂ%
gfRumH dae



1) 18.25N
2)27.43N
3)33.73N
4)23.13N

Q 3) What will be the coefficient of friction between box and plane, if box mass is 10
kg placed on inclined plane which is at an angle of 45° to horizontal. / afe 10 kg

G o1 SIa D! g TdE SNl &fcIol I 45 © P HIV TR § IUW QT 1Y, T iy
R

1)2
2) 1
3) 4
4)3

Q 4) Calculate the velocity ratio in the given figure, if effort moves at a distance of
10cm while load moved a distance 30cm downwards? / faU 71T 31'@1?[ T aT STUTd
1 AT H<, TfE 6 (THT) 10 em B g3 TR TN § SId(P @IS 30cm TJH 1 Pl
3R Tl of

30cms

1) 10
2) 30
3)3

4) Vs

Q 5) Calculate Specific Heat capacity of an object, if mass is 50kg, quantity of heat as
40J and having temperature difference of 250C? / foait a¥d D1 fafR1y s &ar ot
TUMT &, Tfe GoTH 50ke, 407 P U H RR B AR 3R dTUHN 3fcR 250¢ BT

1) 0.854
2) 0.032
3) 1.125
4)1.175

Q 6) Find the value of lim x3+1 at x = 4./ x=4 UX lim x3+1 P Y (ﬁﬂﬂ) f&% |

1) 63
2) 65



3) 61
4) 62

Q 7) Find the length between the two points, if coordinates of x are (8,9) and

coordinates of y are (10,12) / Tfe x & FASRITH (8,9) 8 3R y & FHe2ni® § (10,12) @,
3 foigelt & S &t daTs g |

1)3.526
2)2.236
3) 4.752
4)5.256

Q 8) A person standing at a distance x on the ground happens to see the top of a tree by
making an angle of 45°with the ground. If the height of the tree is 12m, then find the

distance x from the tree? / STHIM TR x @W s Ao Dl STHH & Ty 45 ° BT &

1) 10m
2) 1lm
3) 12m
4) 13m

Q 9) What will be the 12th term in the geometric progression series 2, 4, 8...7 /

wmmm@ﬂmmm 2,4,8..H 129 Ug &1
?

1) 2048
2) 4096
3) 8190
4)512

Q 10) A spherical mass m hanging from ceiling (see figure below) is displaced by
applying a horizontal force F . The string makes an angle 6 with the vertical. Then ...../

TP MATPR GoTHH TH S §d ¥ ded 381 8 (19 7 37 T afas 97 T

a’

1) F =mg sinf
2) F =mg cosf
3) F =mg cotf
4) F = mg tanf

Q 11) A motor capable of producing a constant torque of 100 Nm and a maximum
rotation of 150 rad / s is connected to a flywheel with rotational inertia of 0.1 kg metre
squared. What angular acceleration will the flywheel experience as the motor is
switched on?



1) a = 500 radian / second squared / o. = 500 JeTARd s TR

2) a = 1000 radian / second squared / a. = 1000 AeTIRE S R
3) a = 1500 radian / second squared / a = 1500 METIAHS WIR
4) a.= 2000 radian / second squared / o. = 2000 JeTaRd s R

Q 12) Two of the supply terminals to a 3-phase induction motor get interchanged while
regular scheduling work. What will happen when the machine is switched on? / 3-

ST AR & forw Syfed e & 9 &l &1 afia eyl o1 Hd 991
gexdol fb

1) It will rotate in the opposite direction / g foia fezn & @TIT
2) It will rotate in the same direction / g HHIT fe=n g ﬂ;ﬁ"'ﬂ

3) It will not start/ g 3RY :lﬁ él‘ I
4) It will get heated and the winding will burn/ g 7IRH Epf SITEI 3R dl‘{;it";‘l ol

Q 13) Figure below shows spark test of four different types of steels. Which represents

high carbon steel?/ ﬁhﬂﬁﬁ@ﬂ%ﬂﬂﬁﬁ-ﬁ OSBRI BT {-LII<§> o aniﬁl %I
f_/

DI T I Ble LId BT UfaTUd BT g 2

1) Spark A/ W T
2) Spark B/ T &

3) Spark C / TT%h Tt
4) Spark D/ T 8



Level 2 Answer key

Question No. | Option
1 3
2 4
3 2
4 4
5 2
6 2
7 2
8 3
9 2
10 4
11 2
12 1
13 1




